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# Let's accept a number — sum in dollars

sum = float(input("Enter original sum in dollars:")
# Now let's convert this sum to Shekels

sum *= 3.5 # Multiply sum by 3.5

# Now let's print the sum In Shekels

print (""Your sum equals”, sum, "NIS.")

# N'IDNN XD TV

niIXMAITInNvn 1.9



?N"0N2 0'1DA7 NINYN And

N2l XYY N'IONN XK TNX TXN NNYW? a1vn <

INT NINI NYDNN NX )IRNT7 NXN) X7 ,NINT DY 4
NTNMN 7V N’ N2NON

21TA IX W AN NMI NDNK NTINNY 7DD 4
NNy NI

D'NIYAYNA NINWA NI' 2N UIN'Y W'Y 73D <
21D1 DNIX ,N'ONA 0DNNX DADINT7I DNWNY
72T NYDNN TIR ™R L (NIN119 7wn?) qwnna

TIV'N NO0INA IX NINS W' ,INXY TV

niIXMAITInNvn 1.9



YN N ADONK NTINNNA YUIN'Y

NI7Z'NNNY ,NNX NMIYNA NIF NN NITANA ' Tan7? N I |IN"'9] ¢
DY NYI7WI NINNA

IXN NINWNT TR '71) N2 WNNYN? 72 NYONA 1T NTNNN 02'YN DX 4
NVND wnw? a7 kL (DNR n71voe

» """ This code will be used to calculate the parity digit (right most
» digit) of Israeli ID number, based on the first 8 digits, and will be
» compared to the actual digit to check if number is valid. "
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» #Let's accept the first edge

» a = float(input("Please enter the length of first edge: "))

» #Let's accept the second edge

» b = float(input("Please enter the length of the second edge: "))
» #Now Let's calculate the square of the hypotenuse ¢

» C_SQg=a**2+ b**2

» C=cC_Sg* 0.5 # Square root is power of 0.5

» print ("Length of hypotenuse is", c)
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